$E32E FHVA=TRE—FRT—IEES

2451 A7E(L)
FHEMEBLARERRA—o2—
1. 6EEBF500m
L K £ R (24)) & 8 B =
1 H B4 &R¥ 6 0:45.72
2 ¥NHE st M 6 0:46.09
3 M FRFE =P 6 0:46.43
4 =HIB BERE 6 0:46.78
5 Mo KH =EHY77 (EH) 6 0:47.16
6 =iE BE RE 6 0:47.41
7 #H #X M-Wave(EE#0) 6 0:47.59
8 =% AIF A4 6 0:47.84
9 L5k FzZ WAL 6 0:47.88
10 &R B [R 6 0:47.92
11 R 1&KE R 6 0:48.06
12 #0 E4% Z2H 6 0:50.06
13 ZHfKR E Zgx 6 0:50.16
14 FZHR S 2F 6 0:50.65
15 HHF iFm pilea] 6 0:50.66
16 WA £ [R 6 0:50.71
17 Ihith 3R =EHY777 (mHEbHm) 6 0:55.98
18 F&ZE B =1 6 1:03.83
19 F8 # 7k B3 6 1:05.06
2. 6FELF500m
L K% R (24)) & 8 B =
1 B&HFEX il 6 0:46.90
2 g EH M-Wave($8EA) 6 0:47.20
3 HEX EHE o) 6 0:47.22
4 EHEK EHE P8 6 0:47.33
5 FIE Bl B AR O 6 0:47.34
6 =H KR HAE 6 0:47.54
7 MU KF WAL 6 0:47.78
8 & HB&E HAE 6 0:48.31
9 H$ #FE ey 6 0:48.40
10 /M#x HER €iR 6 0:49.00
11 FE K RE 6 0:49.11
12 #E BE M-Wave(7 ) 6 0:50.22
13 & =MF =EHY77 (FEER) 6 0:52.59
14 IH BE A4 6 0:53.82
15 TH EH TimEAE 6 0:55.50
16 =5 HULVF p:Nea] 6 0:56.04
17 X% 2HR e B AR D O 6 0:56.11
18 INE =& 7k BR 6 0:57.24
19 KH £E i lea) 6 0:58.89
20 hiE B M\ 6 1:02.48
R K3k M-Wave(Z & E) 6 DNS



3. BEBF500m

L K % R (24)) & 8 B =
1 Ft EC R 5 0:45.66
2 it TE €iR 5 0:48.77
3 WK FEWR EHY77 FRER) 5 0:48.85
4 HE EE e 5 0:49.51
5 fEKk i EI 5 0:50.37
6 /U ERXK e 5 0:50.81
7 EH EBE £iR 5 0:51.09
8 &K Eth €iR 5 0:51.76
9 BT [ErE A AL —N (f41ER) 5 0:51.80
10 ik K& o) 5 0:52.03
11 BE BXE 7k BR 5 0:52.08
12 Rk M =P 5 0:52.11
13 FHJE KA [R 5 0:52.15
14 RH R LB AR D O 5 0:53.23
15 /Nl &3t BERE 5 0:54.63
16 =ik FiE 7k BH 5 0:54.76
17 W B A0 5 0:55.36
18 H B&N A9 5 0:56.54
19 &% RE 7k B3 5 0:56.69
20 KP9 FRER BERE 5 0:57.30
21 XRiR # A0 5 1:00.35
22 ¥ 5 AR 5 1:03.35
23 XKIJIl HEX =) 5 1:03.59
24 =H RRH RE 5 1:06.02
25 MR REX RE 5 1:07.32
26 iXH FAAXRER =) 5 1:11.40
27 £%E X#H AR 5 1:11.88
28 EIR & R 5 1:18.59
WA EER A AL —N (& i#h) 5 DNS
hiE BX el 5 DNS



4. 5H£ZF500m

L K % R (24)) & 8 B =

1 /U FAH M-Wave(ty &) 5 0:49.56

2 Ak =TE AR 5 0:50.29

3 B (kB ZiH 5 0:50.49

4 WA FZoh 2 5 0:50.70

5 /K XRATE 7k BR 5 0:51.07

6 HF E EI 5 0:52.10

7 M K2 £H| 5 0:52.17

8 K¥F EF prilea) 5 0:52.35

9 = EH M-Wave(JEE) 5 0:52.63

10 EHBR EfGTE 7k BH 5 0:52.72

11 B BR R 5 0:52.77

12 fefE B A AE—NGE) 5 0:52.78

13 HR HBE M-Wave(F H) 5 0:53.42

14 HME XK =EHY77 (AHEER) 5 0:54.79

15 &H BF R 5 0:55.02

16 HEHf 18 A9 5 0:55.67

17 EAE WE =)l 5 0:55.74
Fi REE NS 5 0:55.74

19 A F=E AL —N (& i#h) 5 0:57.15

20 WK ER o) 5 0:58.09

21 #HE K AR 5 0:59.21

22 HItE EIF ==l 5 1:02.98

23 #FZF THEE [R 5 1:04.38

24 7 {R7E kel 5 1:05.59

25 fRE W[E RE 5 1:05.92

26 FERHCHE NS 5 1:07.26

27 ED EB® AR 5 1:08.02

28 =g KL 7K B 5 1:10.74

29 #HE XX [R 5 1:11.50
B ¥ M-Wave(#Z1E) 5 DNF
®E BE [ 2 AL"—F (4 ER) 5 DNS
BE HBE A4 5 DNS



5. 4 BF500m

L K % R (24)) & 8 B =
1 mMmA JTK e 4 0:48.62
2 INE ERR zzP]1! 4 0:48.80
3 HREk IEHEE 7k BH 4 0:51.74
4 FH # B 4 0:51.94
5 I BE by 4 0:52.11
6 HE WX - 4 0:52.12
7 MR OEX 2 4 0:54.11
8 JIIE K& i 4 0:55.09
9 I % by 4 0:55.55
10 HiZE K s 4 0:56.20
1M =F =2 A E 4 0:56.38
12 #K X 7k BH 4 0:57.01
13 SH BX pilea] 4 0:57.64
14 hiE ZEi s 4 0:57.67
15 /MK KR £iR 4 0:57.92
16 ¥ BE 7k BH 4 0:58.86
17 =g mist ke 4 0:59.49
18 WA ER =) 4 1:02.99
19 FK # M-Wave(FEH) 4 1:05.64
20 K&t —#t b 4 1:07.27
21 |UH EE £H 4 1:08.54
4T Bkt BERE 4 DNS



6. 4FXZF500m

L K % R (24)) & 8 B =

1 WA &h el 4 0:49.31 CR

2 ER IXF gH 4 0:51.24

3 X% WA B AR D O 4 0:52.10

4 F E=x 7k BR 4 0:52.79

5 IhE EiE WAL 4 0:53.10

6 =iE X KHETIE 4 0:53.25

7 PBEH BE ZiH 4 0:53.68

8 M #x R 4 0:53.99

9 LIFE til R 4 0:54.16

10 L& EH AR 4 0:54.46

11 s BiR IBHRE 4 0:54.79

12 FZFE EARF EHY77 (FBE) 4 0:54.91

13 =iE B# KHETIE 4 0:54.95

14 &R FYA e 4 0:57.70

15 WE = TimEAE 4 0:57.79

16 =i ER =P 4 0:58.45

17 B#E BX BERE 4 0:59.18

18 TEM HAtE FA AL - (&) 4 0:59.28

19 £F kK& =Pl 4 0:59.95

20 FOF MERE =1 4 1:02.88

21 HAO B [ 4 1:03.53

22 BiR AR KHETIE 4 1:05.86

23 TB E= £’ 4 1:06.76

24 BH KRB M-Wave(#E1E) 4 1:11.26

25 HMFO EfE 2F 4 1:15.14

26 Lk B/ WAL 4 1:16.29

27 FHMA HFE A0 4 1:17.44

28 IRk BE RE 4 1:21.74

29 JRH 3FK = 4 1:21.98

30 BiF &HLy R 4 1:25.37
HH EHE BERE 4 DNS
2 mEF A9 4 DNS



7. 3FEBF500m

L K £ i (24)) & 8 B =

1 &) —E M-Wave({% f4) 3 0:53.39

2 =H KX e 3 0:53.45

3 LUy K5 M-Wave($8 2 H) 3 0:53.80

4 WK —p &) 3 0:56.85

5 FE EBA [R 3 0:57.01

6 Zith K- [R 3 0:57.36

7 EK EE ENI 3 0:57.84

8 WA B R 3 0:57.90

9 EH Hth ERE 3 0:58.28

10 #& g &AM 3 0:58.46

11 #HE K RE 3 0:58.60
BN #EA BEH777 (ER) 3 0:58.60

13 #WE E% M-Wave( B2) 3 0:58.65

14 % X AR —NUIE) 3 0:59.66

15 fE#Y ZX A 3 1:01.78

16 FRZE B3| A E 3 1:01.92

17 HE4 5 EI 3 1:04.21

18 X% hRE LB AR D O 3 1:04.60

19 ZEE BEX £’ 3 1:05.17

20 & £ [ A& AL —F (48 ER) 3 1:05.54

21 ¥ £ 7k B3 3 1:09.01

22 WA KK [R 3 1:10.19

23 HRE E =) 3 1:10.90

24 %HE HME L AR AR D O 3 1:13.03

25 hiFE BEA £H 3 1:16.99

26 WA & 2F 3 1:18.18

27 KE BH by 3 1:20.59

28 AR REX 2F 3 1:22.36

29 PIHE JoiE B AR D O 3 1:31.11

30 ME *EHh KHETIE 3 1:52.91
INgE FA EAAE—NUIE) 3 DNS
S B AR 3 DNS
RE R 4 AL = (44E8) 3 DNS



8. 3FEXF500m

L K £ R (24)) & 8 B =
1 EN E EHY77 (EEgmP A 3 0:54.85
2 W BEBF £\ 3 0:55.70
3 Rk i AR 3 0:55.85
4 1R HEB AR 3 0:56.51
5 41 fE EI 3 0:58.48
6 Rk A 7k B 3 0:58.81
1 HEEH BT £mMH 3 1:00.90
8 [PAIER %NtkE by 3 1:01.42
9 IR BE £H 3 1:01.91
10 El #HE M-Wave({& ) 3 1:01.98
11 HwBR FE M-Wave(F H) 3 1:04.03
12 R A IR 3 1:05.04
13 &AKK $E R 3 1:05.18
14 Xl bHIE = 3 1:05.43
15 HE ¥& ENI 3 1:08.01
16 FB5 K 7k BH 3 1:11.11
17 HE HE=x =311 3 1:12.76
18 BEFxF & [R 3 1:14.08
19 KM &b BERE 3 1:15.46
20 B ZEiE KHETHE 3 1:17.24
21 Kl ### =)l 3 1:18.57
22 FHIL =B A9 3 1:19.01
23 WE fMBx KHETIE 3 1:28.76
WiE KB AR 3 DNS
9. 2B F500m
Y K % R (B4) z&E 24k B =
1 @A B= M 2 0:59.85
2 INE Eth £iR 2 1:10.18
3 BH LK e 2 1:10.87
4 $HK EKX 7k BR 2 1:13.47
5 % WA AR 2 1:13.80
6 RHE B B AR D O 2 1:17.11
A=Y 7k BH 2 1:17.31
8 uF NS 7k BR 2 1:18.65
9 FH % 7k BH 2 1:20.46
10 #4 —= 7k B3 2 1:48.26
Heh B e 2 DNS



10. 28 XF500m

L K £ R FE EhE &
1 Ik BE Pl 2 1:01.66
2 FHH =45 & 2 1:01.90
3 HRF ¥ =EHY77 (A EER) 2 1:02.90
4 hFt fETE AR 2 1:04.18
5 [E EX by 2 1:04.43
6 EHH D&E prilea) 2 1:04.99
7 KE EH pilEa] 2 1:09.29
8 HH EAL AR 2 1:09.36
9 KH 7t B AR D O 2 1:09.94
10 &K B M-Wave(FFH) 2 1:11.31
11 X% ¥ B AR D O 2 1:11.81
12 HREOED 7k BH 2 1:12.68
13 EiR E# [R 2 1:13.44
14 £H #E i 2 1:16.45
15 #2F BE TEREAAE 2 1:16.61
16 BiEF MAT [R 2 1:19.97
17 &% =i 2 2 1:20.48
18 HR KR 7k BR 2 1:23.09
19 4 EK 7k B3 2 1:25.87
20 XKJI| B =) 2 1:30.10
21 HIfE HEZF =P 2 1:33.54
22 BE BRE =911 2 1:40.57

11. 15£BF500m

Y K % R (B4) z&E 24k 1%
1 PZ2H =hH LIS 1 1:06.89
2 I5ik FHE WAL 1 1:11.14
3 HAO B2 [R 1 1:17.84
4 F #EX €iR 1 1:21.58
5 M™% ik 7k BR 1 1:23.95
6 KHEH XA g 1 1:24.56
7 ZE A 2 1 1:24.89
8 1B REBK EH)77(BR) 1 1:29.71
9 ¥R BER RE 1 1:34.94
10 & EF pilEa] 1 1:47.60



12. 1£X%XF500m

i K % i 8
1 SH 58 A 1 1:07.82
2 BFER fEXE TEmEAE 1 1:09.57
3 B&FZx Th 2| 1 1:09.78
4 INE HE wAE 1 1:11.50
5 BE XA8 £iR 1 1:12.44
6 KiFE X 1= 1 1:15.01
7 B% BE ZiH 1 1:15.35
8 &R &b B 1 1:15.37
9 &R J‘Li‘ R 1 1:18.65
10 91~/,ﬂ3 ¥HE EF 1 1:20.91
11 EH ®IZ ERE 1 1:22.26
12 BRE T =)l 1 1:24.93
13 X% FX B AR D 1 1:25.11
14 KiE HE i 1 1:25.78
15 BEBE HY 7k B3 1 1:32.75
16 u[Fe B5E 2 1 1:37.82

13. 5:6FHF1500m

Y K % R (B4) z&E iy B =
1 B X =HY77 (EH) 6 2:27.37
2 HH #X M-Wave(EB#0) 6 2:28.95
3 vt mH €iR 5 2:29.03
4 ER B R 6 2:29.18
5 Ik Fz wAE 6 2:29.21
6 }aﬁﬂﬂﬂi ﬁ B 6 2:29.45
7 =H ' BERE 6 2:39.69
8 WA =Hk [R 6 2:42.35
9 fEK Mt EJI 5 2:42.36
10 /MU EREK B 5 2:42.80
11 Bk K& %R 5 2:43.68
12 8 # 7k BR 6 2:43.92
13 HH BN A0 5 2:53.89

14. 28 58+%300m

Y K % R (B4) z&E By B =
1 @A B= M 2 0:36.58
2 INE Eth £iR 2 0:42.65
3 #AK ;WX 7k BR 2 0:43.06
4 FH 5% 7k B3 2 0:45.99
5 =B BE 7k BH 2 0:47.10
6 £ WA R 2 0:48.31
7 BH LK e 2 0:51.77
8 RH #KXER B AR D O 2 0:52.09
9 L Ms 7k BH 2 0:57.30
10 #4 —= 7k B3 2 1:05.40

Heh BEH e 2 DNS



15. 28 XF300m

L K £ R (24)) & 8 &
1 bk BE =P 2 0:38.51
2 [E EXE 15 2 0:38.64
3 WA #ETE ZiH 2 0:39.24
4 HMR ZH EHY77 (FAEH) 2 0:39.44
5 E5ER =45 [R 2 0:39.46
6 HHF PE A 2 0:40.81
7 KE EH pilEa] 2 0:41.09
8 HH EAL AR 2 0:41.60
9 KH 7t B AR D O 2 0:41.76
10 &K B M-Wave(FFH) 2 0:42.21
11 Bk E# [R 2 0:44.43
X & LB AR D O 2 0:44.43
13 HREOED 7K BR 2 0:45.10
14 £H #E i 2 0:45.68
15 Hi#E =i e 2 0:46.23
16 #28 BE TiRERdE 2 0:47.42
17 &R KR 7k B3 2 0:47.84
18 Bl MAT [R 2 0:47.85
19 HIfE EF =P 2 0:51.24
20 HMH XK 7k BR 2 0:51.77
21 XJI| BER =911 2 0:53.36
22 BE BRE =911 2 1:05.19
16. 1B F300m
Y K % R (B4) z&E 24k 1%
1 PZ2H =hH LIS 1 0:41.59
2 HA B2 = 1 0:43.68
3 Ik =HE WAL 1 0:44.05
4 FEN BE3K BEH)77(ER) 1 0:45.69
5 % A 2 1 0:47.42
6 &l #EX £iR 1 0:49.38
7 MR ik 7k BH 1 0:50.32
8 &KH XA g 1 0:52.91
9 ¥R BER RE 1 0:57.00
10 R ZF pilEa] 1 1:08.19



17. 1£X%XF300m

L K £ R (24)) & 8 &
1 SH 58 A 1 0:41.27
2 BFER fEXE TimEAE 1 0:41.99
3 IhNE HE WAt 1 0:42.25
4 FEFZF T g 1 0:42.89
5 BE X8 £iR 1 0:43.11
6 B BE ZH 1 0:45.49
7 EH K ERE 1 0:45.77
8 BE ME =) 1 0:47.06
9 ER 5 ey 1 0:47.13
10 %R BAE R 1 0:49.85
11 =E HYx 7k BR 1 0:49.88
12 KiE #X i 1 0:52.34
13 KZE HE by 1 0:52.76
14 X¥F Fx LB AR D O 1 0:53.78
15 4\/ith EE EE 1 0:59.15
16 u[Fe B5E 2 1 1:01.00

18. 64FBF1000m

Y K % R (B4) z&E 24k 1%
1 ®H BN &R 6 1:35.51
2 ¥HE £# =Pl 6 1:38.36
3 MW HFE ==l 6 1:38.60
4 N ER =EHY77 (mHEER) 6 1:39.58
5 =# AT A0 6 1:41.85
6 TER &SAKH R 6 1:41.93
7 =E R RE 6 1:41.97
8 MO E£ Z£mH 6 1:43.08
9 GZHIR S 2 6 1:43.41
10 B%ZE ik =911 6 1:47.39
11 ®HF MmF i lea) 6 1:49.49



19. 65X F1000m

L K % R (24)) & 8 B =
1 &k Ef#E &R 6 1:34.62
2 BEBHEK prilea) 6 1:34.64
3 Uy T M-Wave($8 2 H) 6 1:34.65
4 IpL K2 e 6 1:36.40
5 IRE HBE M-Wave(#T ) 6 1:36.74
6 FTE Biks LB AR D O 6 1:37.06
7 & BE WAL 6 1:37.15
8 Ak EHHRE A4 6 1:37.22
9 H$ #FE ey 6 1:40.47
10 fFE /MK RE 6 1:41.13
11 Ik R £iR 6 1:41.76
12 Y& =MF =HY57 (FAEHR) 6 1:50.04
13 =Z=H KR HAE 6 1:54.16
14 IH BE A4 6 1:54.40
15 TH EH TimEAE 6 1:56.38
16 XE WHB LB AR D O 6 1:57.41
17 S HWLF ke 6 1:57.72
18 INE =& 7k BR 6 1:58.80
19 KH £E i lea) 6 2:06.89
20 hiE B M\ 6 2:10.54
R K3k M-Wave(Z & E) 6 DNS
20. 5 BF1000m
L K % R (24)) & 8 B =
1 Ft EC R 5 1:33.58 CR
2 BIE EE 2F 5 1:40.30
3 MK FIR EHY77 (FBE) 5 1:42.36
4 FHH EE &R 5 1:44.54
5 BT |8 [ A& AL"—b (44 ER) 5 1:46.52
6 FJRE KA [R 5 1:47.12
7 KM FRE§ BERE 5 1:47.13
8 Bk HMFE R O 5 1:47.68
9 RKH &R B AR D 5 1:47.74
10 HE B4XE 7k BH 5 1:48.39
11 A=K Eth £iR 5 1:48.53
12 /Nl Esd BERE 5 1:56.24
13 ™ @B AR 5 2:00.06
14 =ik BiE 7k BH 5 2:00.41
15 &% RE 7k B3 5 2:05.12
16 XiR # A9 5 2:09.71
17 % 58 AR 5 2:17.76
18 KJIl #X =) 5 2:20.17
19 EiR #%& R 5 2:21.99
20 =ZH RrRA RE 5 2:22.53
21 MR BEXR RE 5 2:31.97
22 ZH FAKRER =1 5 2:35.85
WA BER AL - (R i#h) 5 DNS
WmiE BRX B 41N 5 DNS



21. 5£%F1000m

L K £ R (24)) & 8 B =
1 /U FAH M-Wave(ty &) 5 1:43.37
2 S EH M-Wave(3 ) 5 1:44.82
3 K¥F EBF pilEa] 5 1:44.86
4 #M Kig £H 5 1:45.64
5 ™ (kB RS 5 1:45.69
6 PHIR &I M-Wave(E H) 5 1:45.99
7 WA [Fos g¥F 5 1:46.79
8 Ak =TE A4 5 1:46.89
9 /K XRATE 7k BR 5 1:47.05
10 el B A AE—NGE) 5 1:47.58
11 &K EfGTE 7k BR 5 1:51.57
12 Bf B EJI 5 1:53.08
13 HmRF EXH#H =EHY77 (mHEbm) 5 1:55.09
14 EHH BHF AR 5 1:56.44
15 it BR R 5 1:56.94
16 HEHf 18 A9 5 1:58.73
17 KX BE %; 5 1:59.06
18 EiE H}E =) 5 1:59.76
19 B FEEHE gH 5 2:01.67
20 BB HE A0 5 2:02.45
21 FR Fx A AL - (R ih) 5 2:03.02
22 FEERHCHE RS 5 2:03.56
23 #HE KK AR 5 2:07.18
24 A XK R 5 2:07.61
25 R {B7E A 5 2:25.82
26 {FE W[E RE 5 2:32.51
271 #%FHF THEZE [R 5 2:35.00
28 HIfE XIF =P 5 2:35.81
29 =i BRI 7K BA 5 2:38.99
x5 ¥ M-Wave(#E{E) 5 DNS
®RE BE 4 AL - (4888) 5 DNS



22. 45 BF1000m

L K % R (24)) & 8 B =
1 mMmA JTK e 4 1:42.66
2 INE ERR zzP]1! 4 1:44.20
3 EH # B 4 1:45.55
4 Ak HZEE 7k BH 4 1:45.75
5 R WX Z£H 4 1:46.58
6 /I EBE by 4 1:46.68
7 HiE K £H| 4 1:52.04
8 JIIE K& i 4 1:52.24
9  KR¥ —# by 4 1:53.60
10 /MR X i 4 1:57.71
11 MR OEXK Z£H 4 1:57.75
12 #K #X 7k BH 4 1:59.64
13 =E 2 hH 4 2:00.50
14 i Eth s 4 2:02.02
15 /MK KR £iR 4 2:03.34
16 ¥ BE 7k BH 4 2:03.57
17 SH BX ke 4 2:13.98
18 FUE B3t b lea) 4 2:19.35
19 A Ex =)l 4 2:24.86
20 Bk M-Wave(FFH) 4 2:29.38
21 |UH EE £H 4 2:31.90
4T Bkt BERE 4 DNS



23. 4% F1000m

L K % R (24)) & 8 B =
1 WA &h el 4 1:43.55 CR
2 ER IXF gH 4 1:46.94 CR
3 JFHE IFK =) 4 1:49.27

4 IhE EH HAE 4 1:50.22

5 LEE t; AR 4 1:50.66

6 LtiF EfH ZH 4 1:50.67

7 XE HF B AR D O 4 1:50.78

8 F2H BE S| 4 1:53.92

9 m #Hx =P 4 1:54.55

10 &t E=x 7k BH 4 1:55.42

11 =ZE X KHETIL 4 1:56.13

12 BE B# KETL 4 1:56.37

13 EE YA e 4 1:59.02

14 B EBX BERE 4 1:59.27

15 /M BEiR BERE 4 1:59.75

16 #HF KB M-Wave(#Z7E) 4 2:00.14

17 FE EFALF EHY77 (FBRE) 4 2:00.73

18 =i ER R 4 2:02.58

19 £F kK& =P 4 2:04.73

20 TEf HAGE FBAAE-N(ER) 4 2:08.80

21 MWE EE=E TimEAE 4 2:10.89

22 BiF oL R 4 2:11.40

23 EE: % A 4 2:12.79

24 TE BF o) 4 2:13.30

25 =R A KHETIL 4 2:16.12

26 HO B [R 4 2:16.15

27 FNF MERE =)l 4 2:18.39

28 PO EfE 23 4 2:35.34

A EHE BRE 4 DNS



24. 3FEEF1000m

L K £ R (24)) & 8 B =

1 &) —E M-Wave({% f4) 3 1:48.90

2 =H X WAL 3 1:49.04

3 M4 ENI 3 1:50.32

4 FHith K- R 3 1:51.83

5 WK —R £iR 3 1:52.01

6 g K5 M-Wave($8 2 H) 3 1:58.10

7 EK EE ENI 3 1:58.88

8 HBIM EA BEH777 (BR) 3 2:01.02

9 EH Hth ERE 3 2:01.96

10 WA BEK AR 3 2:02.13

11 W fnrE BAAE—NUIE) 3 2:03.00

12 FJE EBA [R 3 2:04.34

13 #RZE E=st it 3 2:05.33

14 ®HE K& &% 3 2:05.36

15 % X BAAE—NUIE) 3 2:07.38

16 #WHE EX M-Wave(fT ) 3 2:08.69

17 ZEk BEX o)) 3 2:14.64

18 X% R LB AR D O 3 2:14.88

19 fE# ZX AR 3 2:21.68

20 HiE BEA Z2H 3 2:22.67

21 & EWH A AL"—N (f4ER) 3 2:22.98

22 A & 2 3 2:27.57

23 ¥ £ 7k B3 3 2:31.62

24 A KK [R 3 2:32.19

25 RiE E =) 3 2:36.95

26 B = KHETIE 3 2:39.66

27 KE BH by 3 2:44.37

28 AR REX 2F 3 3:12.42
INgE FA EAAE—NUIE) 3 DNS
ZH HMR LB AR D O 3 DNS
RE R 4 At = (4888) 3 DNS



25. 3% %F1000m

L K £ R (24)) & 8 B =
1 fai HEB AR 3 1:52.76 CR
2 EN OE EHY77 (EERPE) 3 1:53.61

3 Rk i AR 3 1:53.76

4 #w® BEBF M| 3 1:54.24

5 &1 FFE ENI 3 1:57.23

6 F5 K 7k B 3 2:01.73

7 R AR 7k B 3 2:03.96

8 ISR %Ntbm by 3 2:05.25

9 IR BE Z£H 3 2:08.86

10 BEFHZx BEBE £/[ 3 2:12.56

11 #wBR FE M-Wave(F H) 3 2:14.83

12 El #HE M-Wave({& ) 3 2:15.59

13 &R A R 3 2:18.62

14 =K $E A 3 2:21.04

15 HE ¥& EI 3 2:22.20

16 KJIl #b3E =1 3 2:34.44

17 KM &b BERE 3 2:41.24

18 HE FEX =) 3 2:42.09

19 B 2= KHETIE 3 2:44.77

20 ®RFZF &40 [R 3 2:45.28

21 B fMBx KHETIE 3 2:50.74

WiE KB AR 3 DNS



26. BF/\a—}h

L K £ B (B54) e Ak -
1 2¥F SR EFHIR SHE RE 2:05.98
2 it INL EER=H RRKEBHE T2 2:06.27
3 R WA 2k ER S Eh 5 2:07.50
4 £R Nt R EL PR KB EH EE 2:08.06
5 Z£H RO B4 %5E FX $E HK 2:11.22
6 EJI fEK fnf B AR HE 2:15.91
7  kBA FB H.5K BYE Ak 1T 2:15.92
8 I¥ INK BEJIE KB KRF —# 2:17.19
9 K =H# BIRIH B MBS 2:24.74
10 8iFg KHF MFHSHBXEIE B33 2:26.39
11 = X1 HEXIFE $AAERBEE hiE 3:03.22
NE AR N AR HIK DNS
wepiiEAR D> RHE E%R2H BM,XE Rk @) DNS
87 BT E1EE £%.A% BE DNS
27. FI/I\a—p
Y K £ R (B4) z&E 24k =
1 it =HF KR,Z BRE /ML RS 1:56.32
2 KR H BE AR S K £ 2:09.43
3 M= EF S8 LR tiE5H BF 2:19.63
4 B Hh X WA ZOHNER FYA 2:20.19
5 JKBH INE e Bk BERTE /AR XATE 2:23.86
6 UFGHEAR D FIE BERR KE D ERKE BRE @) 2:23.92
7 = Bk BEfE /M EBERELK ES 2:24.56
8 Himm =18 HULVFKH EE K EF 2:30.30
9 = e D2 MNT AR EH FK 2:38.72
10 2H hig B K2 M BF 2:42.02
11 EAH i REEFRRERHSCE A KB 2:47.44
12 EJ)I i B 4L FIXBE EE 2:53.43
13 R tH BRHBE XU EHF THSE 2:56.22
14 oM £F REHME XZFTER EE 3:01.15



550 FEhAERRT—FKRE

FR24F1A7H(L)
FHMEHLEERR 7 — 25—

1. &4 55~598 500m

I K& R (241) E#h ES =
1 BE X FEHHmPKIE 59 0:52.82
2 RO MR FHTER 55 1:07.79

2. 4+t 60~648 500m

I iz K __#& B (BA) & FLER B___ &

HHE ®E F&Hmh 60 DNS

3. #+t 65~695 500m

I K% B (24)) F# 25k B =
1 B8 ThE A EHET 65 0:48.01
2 B#E —B E&Hmh 66 0:48.10
3 EBK AN [R#t 65 1:11.53
4 EH #F 2F 68 1:22.78
FHE #E =A™ 69 DNS

4. 4 70~748 500m

B K% B (B5) & EEE B =

1 Nk EZE BRT 71 0:55.22

2 KARRER FHME 73 1:02.89

3 WE EX TERERET 74 1:05.39

4 hiFE B— =A™ 73 1:09.53

5 FHIl BX FHME 72 1:26.51
BE B imERT™ 74 DNS
mA = FEmitw 74 DNS

5. 4t 75~798 500m

B E £ B (B44) F# EES W =
1 BH ®& K™ 75 0:57.56
2 AX BFE FHmh 79 1:32.65



6. 4+t 80~84F 500m

B E £ i B (B5)) EH S W =
1 Iy vERR =T RHE 80 1:17.31
7. &4 85@LLE 500m
B E £ B (B5)) EH S W =
1 XB UR EJI| 86 1:59.41
e K¥E ETRHE 88 DNS
8. i TEARS—I,300m
B K % B (B5)) 2 EES W =
1 WE RX TEREAHT 74 0:53.85
2 EK AN [=4F 65 0:56.18
I\ /) ETRHE 80 DNS
e K¥E ETRHAT 88 DNS
9. 1+ 55~598 1000m
B E £ B (B5)) 2o EE S W =
1 BE X FEHmPKIE 59 1:49.20
2 KO MR FHTER 55 1:49.91
10. 4 60~64E 1000m
B E £ B i EE S W =
HE 2% *8Hmh 60 DNS
11. 4+ 65~698 1000m
B E £ B (B5)) EH RS W =
1 A hE A EHET 65 1:38.52
2 BHE —B REH 66 1:38.71
3 EBK AN [=4F 65 2:28.11
A R EAT™H 69 DNS
EH E B 68 DNS



12. 44 70~748 1000m

B E £ B (B5)) EH S W =
1 JNgkE 1IEZ# ER™H 71 1:58.74
2 iE B— EAT™H 73 2:13.86
3 RKABRRXEA EZEHHEII 73 2:15.18
=)l BEX FHME 72 DNS
BE B mEATH 74 DNS
mAE E= FHhdtl 74 DNS
WE B’X TEREHHET 74 DNS
13. 4 75~798 1000m
B E £ B (B5)) EH S W =
1 BH ®& K™ 75 2:00.28
Ak BE F*5Hmh 79 DNS
14. 4 80~84E 1000m
B E £ i B (B5)) EH S W =
1 Iy vERR =T RHE 80 2:41.62
15. 4 85mLlLE 1000m
B E £ B (B5%) EH EES W =
1 XB HUE ES 86 3:48.09
e K¥E ETRHE 88 DNS
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